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1. Write your roll number in the space provided on the top
of this page.

2. Answer to short answer/essay type questions are to be
given in the space provided below each question or
after the questions in the Test Booklet itself.

No Additional Sheets are to be used.

3. At the commencement of examination, the question
booklet will be given to you. In the first 5 minutes, you
are requested to open the booklet and compulsorily
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(i) Tohave access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not
accept a booklet without sticker-seal and do not
accept an open booklet.

(i) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced
immediately by a correct booklet from the
invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given.

4. Read instructions given inside carefully.

5. One page is attached for Rough Work at the end of the
booklet before the Evaluation Sheet.

6. If you write your Name, Roll Number, Phone Number or
put any mark on any part of the Answer Sheet, except
for the space allotted for the relevant entries, which may
disclose your identity, or use abusive language or employ
any other unfair means, you will render yourself liable to
disqualification.

7. You have to return the test booklet to the invigilators at
the end of the examination compulsorily and must not
carry it with you outside the Examination Hall.

8. Use only Blue/Black Ball point pen.
9. Use of any calculator or log table etc., is prohibited.
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Note : This paper is of two hundred (200) marks containing four (4) sections. Candidates
are required to attempt the questions contained in these sections according to the
detailed instructions given therein.

AT : T8 YT X At (200) 3iehi 1 € Ul SHH R (4) TS & | 31gelt I GHIE U o I SFeAT
T2 T et et o ST ER T |
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SECTION -1
EC g |

Note : This section consists of two essay type questions of twenty (20) marks each, to be

answered in about five hundred (500) words each. (2 x 20 = 40 marks)
AT :  THEE § G- (20) 37 & I FaLTeqs U9 & | Teieh U9 1 3T AT uie 4t (500)
YT H SR | (2 % 20 = 40 3i)
1. In the period of Globalisation, the development gap between rich and poor nations has

widened. Elucidate.

ATAIH0T o T et H T U FTE A2 o o1 {oehi bt T8 sigell ST @l & | T it |
OR / 3rgat

Economic development is not complete without taking into account the environmental

issues. Elaborate.

TSRO THETSTT T gite | T foT 3Tk forehiar 70T € | St ity |

J-01-11 3 P.T.O.



J-01-11



J-01-11 5 P.T.O.



J-01-11



2. State and explain the problems caused by migration of labour from rural to urban
areas. Examine the steps that have been taken by the Government of India to arrest
this trend.

TTET &5 @ TRIF & H 9 % e ¥ 36 g arell gewnet & faie iR 3% '
FHINTT | 3T FH T Wbt o o0 TR TRFR A S T 33 &, TR JodTh HiTT |

OR / &gan
What do you mean by Fiscal Consolidation ? Discuss the steps, if any, taken by the
Government of India in this direction in the recent past.

fordta THEToT | = iy € ? 29 5o § YRa SehR §RT 33 U I, I hig 33/ T &,
! == T |
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Note :

SECTION - II
ECE | |

This section contains three (3) questions from each of the electives/specializations.
The candidate has to choose only one elective/specialization and answer all the
three questions contained therein. Each question carries fifteen (15) marks and is to
be answered in about three hundred (300) words. (3 x 15 = 45 Marks)

TH GUE T Yo Ul Zonte / Toeieniar 9 i (3) WS & | 3Tl ol shelol Weh Ufedeh ShlS /
TorTo=TeT bt RT3 o T U9 & ST S § | sk U9 UE (15) 37hi 1 & I ST
TR ST i | (300) Vi | SR § | (3 % 15 = 45 3i®)
Elective — I / faseq - 1
(a)  Explain the distinction between R? and R2 in regression analysis.
(b)  Explain the problem of autocorrelated disturbances in linear regression
models. How would you test the presence of this problem ?
(a)  GHIHEOT fagerwor § R2 3R R—2 & 31=X ol T hifoTT |
(b) e o ey TTEe | W Fe-gra-ad e UaT st THET Sht SR T RIET0T HY
HAT |

Distinguish between Recursive and Interdependent simultaneous equations systems ?
Discuss the estimation methods suitable to each of these systems.

3TTEeh AT STR-GEETed I U5 THISHROT <l YT o Sie 3T 3R T IS | 3 JoTferar
H F Ucieh o 3ot o [T SUFRT U5Idar ohi S ity |

Define the concept of co-integration in the context of time series models. Explain
suitable tests to find out if two or more series are co-integrated.

G- ISl & 93y H Tg-Uehighel STTHROT 3t URTHT ST | 98 TaT o o ford 3fere
TR SRl T SHITTT foh ST 3720 T ST e Te-Ushidhd & |

Elective — II / fasea — 11
Explain the distinction between Monopoly and Monopolistic competition. Explain the
concept of group equilibrium under monopolistic competition.
THTHR 3R THITIHRT AT SR I TL HIT | THTIHRT AT 6 e T8
G o STILROT St T HITTT |

Explain the concepts of ‘pure’ and ‘mixed’ strategy in the context of two person zero
sum game. How equilibrium is reached under this theory ?

98 SRI-GH-TH & T3 A foers R fafya IoFiTa S SR S T Hie | 39
THT=T % ST Tt Shl hel UTe fehall ST & 2

Discuss Solow’s growth model.

HicAl o forepTd AT ! == i |
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Elective — III / fasea — 11
Explain the multi-lateral trade agreements regarding GATS and TRIPs. '
g (ST T 2t vd) 3R feud (3t 1R 31 0 Uh) | graf-ud sg-uifsdeh SR $ehR AHT Sl W
HIfTT |

What are different forms of Economic Integration ? Examine the problems faced in
economic integration among less developed countries.

3N TeheRROT & faf=T &9 =1 € 27 i faeriad S & dfe N TeheRoT § ST aelt
GET3T HT TR I |

What is meant by the term hedging ? What gives rise to it ? Can hedging take place in
spot market for foreign exchange ?

T O o AT € 7 T® e STUAET e € 2 9 gfer faeei fafeg <t @ie wifee 9 @
Heheli g ?

Elective — IV / fa@wea - IV

State the objectives of public distribution system in India. How far the system has
achieved these objectives ?

ORA | GreT(eh foraloT TOTeAt o 329 b1 foreRor AT | 37 Jotedt g7 fohd 9T ook 39 329
HYAgE e ?

Critically examine Multi-Agency Approach to rural credit in India.
qRA H T FOT AT § Ig-USTl ST (FeR]-Ustdl TRE) &l AT Jodish
FHIT |

Do you agree that Land Reforms in India are improving incentive structure in
agriculture ? Explain the reasons.

T 31T Wead ¢ oF R § 9T R Wedesd &fd H e IR o W & 7 FRON o A
HIfTT |

Elective - V / fas®ea - V
How have globalization, liberalisation and privatisation policies affected medium and
small scale industries in India ?
ORA § Tl 3R 7Y S5 o ST ol A9aeh0T, STRIEIUT 3TX FHSTiehor sl Al = et ae
TTTere fema & 2

Discuss the role of Public-Private Partnerships (PPP) in the development of
infrastructure projects with reference to roads and airport development in India.
IRA | TEH Te ZaTE-U7H o foehd & T H THRI-Fsft qEgRy (A ot oF) T Jotogd g
TorehTey URESTHTST o fHeR i T HIfT |

Discuss main recommendations of Thirteenth Finance Commission of India.

R o (¥ed (aiid TN i TR ot faer=mt HIT |

J-01-11 12



J-01-11 13 P.T.O.



J-01-11

14



J-01-11 15 P.T.O.



J-01-11

16



J-01-11 17 P.T.O.



J-01-11

18



J-01-11 19 P.T.O.



Note :

e :

SECTION - III
EC i | | |

This section contains nine (9) questions of ten (10) marks, each to be answered in

about fifty (50) words. (9 x 10 = 90 Marks)
TG T 4 9-89 (10-10) 37hi & At (9) YT & | Yheh U 1 STR AT 7= (50) 91gi |
3TfRTT € | (9 x 10 = 90 3i)

State ‘Weak’ and ‘Strong’ axioms of Revealed preference approach of demand
analysis.

HTT foreetooT o 3Fefed aRIgan SUNTH o FHefet 7o Wt SITErd S ol Sifsu |
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7. Explain Pareto optimality in relation to consumption and production.

STHNT AT IR o T H T2l i g2 (SIS Tl T iU |

8. What is the concept of money multiplier ?

ST TIOTeh i TSRO 1 & 2
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9. Explain the distinction between merit and public goods.

‘IS’ 3R WIASTHh T3 o 3R Tl WL RIS |
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10. What is fiscal deficit ? How does it differ from revenue deficit ?

forcir =mer S & 2 T TeTed 1reT 9 fohg UehR f=r € 2
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11. What is meant by the term ‘Balance of Payments’ ? How does Current Account
differ from Capital Account ?

“STRTANTET T THET T T AT ¥ 2 =Te] W YT W by JehR = § 2
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12. Differentiate between Absolute and Relative Poverty. State Sen’s Poverty Index.

TdeT 31X Qrdet Te=ar O TR SIdqetsy | ST 9 o (He-ar geehish o faaior ST |

13. Is trade an engine of growth ? Explain.
FI AR {18 T 917 & ? T BT |
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14. State Leontief’s Input-Output Model and explain its use in economic planning.

AR % T-J2-3T3YS HigeT I eR0T feafigu 31k Tueh! STk STaisH1 | W il T
FHIT |
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SECTION - IV
g g -1V

Note : This section contains five (5) questions of five (§) marks each based on the following
passage. Each question should be answered in about thirty (30) words.

(5 x 5 =25 Marks)

A : W WS § (Hfaiad =g W e Ut (5) U997 & | Ucdeh U9 ol ST’ o9 14 (30)
YT T STURIT € | TR U9 Ui (5) SR T E | (5 x 5 = 25 3i)

“Of fundamental importance to the issue of Third World manufacturing export
prospects are the barriers which are erected by the developed countries to restrict
entry of these products to their own markets. Tariffs, quotas and other barriers in the
markets of the rich constitute a major impediment to large-scale industrial exports.
The tariff structures of the rich nations are such as to offer the greatest degree of
effective protection to their producers in the very industries in which poor countries
are most likely to be competitive — light industries relatively intensive in the use of
unskilled labour such as textiles, footwear, rugs, sporting goods, handbags, processed
foodstuffs, etc. This is precisely because of these industries’ inability freely to
compete, unskilled labour-intensity putting them at a comparative disadvantage
within the context of their relatively high wage economies.”

“FareRfae SR A 379 STSTR | 7 391 o ScaST i 3T | Wehet o foTu 1t ae= @ ford €3
T fovd & SeareH o AT o foTt Jotoqa Toean & | &4t 991 ol STRG-faid &6, el 3R
3 TR T TR W ST 2T o At | Sha & | & S0 3 STrd-FHard i o gt
U & ST Sk 370 SCUTSeh! Bl Sl SEN H TTEl GRET TS el € e e e o
SAferehIfeeh WiqaiTT & i 3TU&T § | I8 € UY gotch el {50 THeTet S/ Ve &l & I
HUET, STAI-FTHTOT, AT, Tl 61 G, £ 57, I QE-uaTe 3s | 98 9ai9 5 39 fo o
TRl & T UM WAA €T G U Fel F Tohel FiTh 3Tk ATILTTal 3o IoRT ool
STITEeRaT o e T STHLICT ST i FHAT 3¢ oI it I &1 R B0t & 17
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15.  What are the labour intensive manufactures of developing countries ?

forerTareiet 91 o SH-Te1 SUTE S F & 2

16. Explain the trade distortive measures of the developed countries.

forRiaa <oTt & =TT forehid SReh UM oht IR ST |
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17. Explain the reasons for low price elasticity of demand for poor countries’ exports.

e et o Frae st Wi ot 1T oo oTereh o ShIRUTT ol ST HifSTT |

18. Explain why ‘export or perish’ has become slogan of the day ?

T Tt 27era THer I8 37ST T STea ol & AT § 7 W iy |
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19.

State two main reasons for the imposition of tariff barriers on developing countries’
exports to developed countries.

forentaa 29l | Afaepiaa 29m gR1 fatd W amd-fata o sqau™ @ o o fohel g ROl
T oo HITeTT |
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Space For Rough Work
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